More Trig Equations

$$
\begin{aligned}
& (2 \sin x)^{2}=(1-2 \cos x)^{2}\left[0^{\circ}, 360^{\circ}\right) \\
& (1-2 \cos x)(1-2 \cos x)\left(\sin ^{2} x+\cos ^{2} x=1\right. \\
& 4 \sin ^{2} x=1-4 \cos x+4 \cos ^{2} x \quad \sqrt{x+3}=2-\sqrt{x+4} \\
& 4\left(1-\cos ^{2} x\right)=1-4 \cos x+4 \cos ^{2} x \\
& 4-4 \cos ^{2} x=1-4 \cos x+4 \cos ^{2} x \\
& 0=8 \cos ^{2} x-4 \cos x-3 \\
& \cos x=\frac{4 \pm \sqrt{16-4(8)(-3)}}{2(8)}=\frac{4 \pm \sqrt{112}}{16} \\
& \cos x=0.911^{2(8)} \quad \cos x=-0.411 \\
& \cos ^{-1}(0.911)=24.3 \quad \cos (0.911)=65.7^{\circ} \\
& 0=2 \times 3^{\circ}, 335.7^{\circ}, 115.3^{\circ}, 2 \% \times 7^{\circ}
\end{aligned}
$$

$$
[0,2 \pi) \begin{array}{ll}
\sin x-\cos 2 x=0 & \cos 2 x=\cos ^{2} x-\sin ^{2} x \\
\sin x-\left(1-2 \sin ^{2} x\right)=0 & \cos 2 x=1-2 \sin ^{2} x \\
\sin x-1+2 \sin ^{2} x=0 & \cos 2 x=2 \cos ^{2} x-1 \\
2 \sin ^{2} x+\sin x-1=0 & \\
(2 \sin x-1)(\sin x+1) \\
\sin x=112 \quad \sin x=-1 \\
\pi / 4 x / 6 & x=\frac{\pi}{6}, \frac{5 \pi}{6} \frac{3 \pi}{2}
\end{array}
$$

$$
\begin{aligned}
& \sin x=\cos \left(\frac{x}{2}\right) \quad\left[0^{\circ}, 360^{\circ}\right) \\
& (\sin x)^{2}=\left( \pm \sqrt{\frac{1+\cos x}{2}}\right)^{2} \text { check! } \\
& \sin ^{2} x=\frac{1+\cos x}{2} \\
& \sin 60^{\circ}=\cos 30^{\circ} \\
& \sqrt{3} / 2=\sqrt{3} / 2 c \\
& 1-\cos ^{2} x=\frac{1+\cos x}{2} \\
& \sin 300^{\circ}=\cos 150^{\circ} \\
& -\frac{\sqrt{3}}{2}=\frac{-\sqrt{3}}{2} \quad v \\
& 2-2 \cos ^{2} x=1+\cos x \\
& \sin 180^{\circ}=\cos 90^{\circ} \\
& 0=2 \cos ^{2} x+\cos x-1 \\
& 0=(2 \cos x-1)(\cos x+1) \\
& \theta=0 \\
& \cos x=1 / 2 \quad \cos x=-1 \\
& x=60^{\circ}, 300^{\circ}, 180^{\circ}
\end{aligned}
$$

$[0,2 \pi]$
$2 \tan \left(\frac{x}{2}\right)+\sqrt{3}=-1$
$3 \tan \left(\frac{x}{2}\right)+\sqrt{3}=0$ $\tan \left(\frac{x}{2}\right)=\frac{-\sqrt{3}}{3}$

Shortcut
Do not use icentitis'

1) All same trig
2) All same mulish cor

2. $\frac{x}{2}=-\frac{5 \pi}{6}$

$$
\begin{aligned}
& 0<x<2 \pi \\
& 0<\frac{x}{2}<\pi
\end{aligned}
$$

$x=5 \pi / 3$

$$
\begin{aligned}
& 2 \cos ^{2} 3 \theta+3 \cos 3 \theta+1=0 \quad\left[0^{\circ}, 360^{\circ}\right) \\
& (2 \cos 3 \theta+1)(\cos 3 \theta+1)=0 \\
& \cos 3 \theta=-\frac{1}{2} \\
& \cos 3 \theta=-1 \\
& \theta=\left[0^{\circ}, 3,0,0\right) \\
& 3 \theta=\left[0^{\circ}, 1080^{\circ}\right) \\
& 60 \mathrm{y} \\
& \theta=40^{\circ}, 60^{\circ}, 80^{\circ} \\
& 160_{1}^{1} 180^{1} 200^{\circ} \\
& 2800^{\circ} 300^{\circ} 320^{\circ} \\
& 2 \sin ^{2} 2 \theta+\sin 2 \theta-1 \\
& 2 \cos ^{2} 2 \theta+\sin 2 \theta=0
\end{aligned}
$$

